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Analog & Mixed Mode VLSI Design

Note: Answer FIVE full questions, selecting
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Discuss circuit noise in an opamp. (05 Marks)

s O at least TWO questions from each part. (Sb .
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£ O , PART — A b(

E 1 a. Sta explain specifications of ADC, N (12 Marks)

.g b. State asons for the pedestal error, droop aperture error and sa:rpbg error. (08 Marks)
‘ . ’

_ E . 2 a. Describe th%geclined ADC with a neat diagram. )\q/ (10 Marks)
goﬁ b.. Explain qualitXi 3the architecture and working of chargafioaling DACs. (10 Marks)
8=
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g g 3 a. Explainthe princip%kingle slope ADC and the prqsfms associated with it.
= Il . b (10 Marks)
e 5 b. Briefly explain the block %am of a 2-step ﬂagl?/ApC and its working. (16 Marks)
5§ )

é g 4 a. Explain the working of a voltag‘pém aratofwith the help of a block diagram. (10 Marks)
5 £ b. Explain the principle of an analog iplier. (05 Marks)
g 5 c. Briefly explain CMOS analog multi ith the help of a circuit diagram. (05 Marks)
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25 5 a. Draw the circuit arrangemeplwsed for decin;%bu and averaging and explain the same.
§1§ Determine the transfer fun of the same. s - (10 Marks)
G 5 b. Define SNR, effective er of bits and clock jiler in mixed signal circuits qualitatively.
_E 3 : 0 ' (10 Marks)
>3 | O

’5 g 6 a. Describe CMO ess flow with neat sketches. ; (10 Marks)
27 b. Explain ho itor and resistor elements are fabricated in $ubmjgron technology.

& :é: . : “YS-@ :3 (07 Marks)
8 g c. Explain®®SFET as a switch. < 5 (03 Marks)
¥ 2 o <O,

g8 7 a e delay elements? Explain how they are realized using pass tran s, inverters and
5 5 ked CMOS and TSPC circuits. 7 (10 Marks)
jox- {)O ealize a 4-bit pipelined adder using latches and explain its operation. Marks)
g8 # Implement full adder using dynamic logic and explain. Marks)
I - 2
g8 &% a. [Explain with the help of circuit diagrams, the technique of making the slew rate conc .'1&
@ the design of opamp. {10 Ma
—w b. Explain the limitation of an inverter at the output of an opamp, with the help of its transfer
2 curve. How is it overcome? (05 Marks)
Z c.
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